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Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058081, R1 1s transitive but R, is not transitive

7155058082, R2 1s transitive but Ry is not transitive

7155058083, Both R and R, are transitive

7155058084, Neither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505159
Yes

null



Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

E? Dg Ry wim b Ry ey GsTLrLser
ad - b > 0 eT@mmTed (a, b) Ry (¢, d) eTammLD

a+d>b+eeTeammed (a,b)Ry(cd) GTammd euenyUmESLILI(HSlTmen. eTeuflen

Options :

R; 6)(F SL GG GGTLITL| aTed R, SLGFHe GGTLTL See
7155058081, 1 240 Z =i/ gLt L
7155058082, Ko QB BLSSD CISTLITL| Q@6 Ry SLFFE CISTLITL| Siee
2155058083, R1 LODMID R, GTETLIET SL_GG@ CSML_ML|&eT

R; LDHMID R, @7ewr(hbd SL_ 556 ST TLSET 3j6baD
7155058084, R1 LLDMILD Ry (317600 (b 556 GGTLTLHET e

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

y (30 30 2
Let a and P be the roots of x~—3x +9 = 0. Then | A | s equal to
L(9c)™?  (9p)'? )

Options :

7155058085. 1

]
7155058086. 9

7155058087. 3



7155058088. 9

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=3 +9=0 616N FLOGTUTL LMD o LOHIULD B 6TEITLICT PLOGIMISET, 6760160
(g0 ¥ o e
| i | -@er wEiny

T

Options :

7155058085, 1
]
7155058086. 9

7155058087. 3

7155058088. 9

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
For z=2 + 5i, the modulus of 22> + 2172 - 58z + 4 is :
Options :

7155058089. 1153
7155058090. 947

7155058091. 337



7155058092, 837

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

z=2+5i 6TeN&. 22> +21z> — 58z + 4 -1 L () WS :
Options :

7155058089. 1153
7155058090. 947
7155058091. 537

7155058092, 837

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the system of equations

Kx—ﬁy+\/§z -J7

= = —
\."IJ.T + < 3}-‘ = '\."EZ =411

30x +(3V15 = 5v6) y + (5715 = 3310)z = 5421 + 3455
has infinitely many solutions. then K? is
Options :

7155058093. 27



I
7155058094. 3

7155058095. 9

7155058096. 3

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K}_\/EJ,+\/EZ = ﬁ
B3y -2z =411

30x+ (315 -5V6)p+ (5415 - 310)z = 5321 +3455

6T60TID &FLOGTLIML L9607 Q& m@ LI D@, eTetorennt UL Mis T ey g6r 2_euor(h) erenfle)
K2 -@)6tr &Ly

Options :

7155058093. 27

I_|h|,|_

7155058094.

7155058095. 9

7155058096. 3

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

', B = [u’ 0}

‘o 0

\U ﬁ'

For o, p € £, if the matrices A=

1 0y . :
and [ = \:sausfy the equation
0 «) 0 1

(A%B)#2I =20L where # is defined as A%B =A%+ B, then | af| is equal to :
Options :

7155058097.2xﬁ§
7155058098, 2v/2
7155058099, 4

7155058100. 2

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o0 O LMY e celseniE AvB=Al: B (A%B
,B= = | erem enfl&(ehaE A*xB=A%+B
e/ o (01" b e )29 L

o, P ER GTeNE. A=

r

#20 =201 erem) @HHSTE, |ap | -6 EILIL] :
Options :

7155058097.2xﬁ§

7155058098, 212

7155058099. 4

7155058100. 2



Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

N . 1
The sum of the first eleven terms of the series is =1 +
17+

Options :

7155058101. 133

7155058102. 133

7155058103, 33

7155058104, 67

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 ' ' L] L] * O
—+ it——— t- TSI eUMeng! &6 LEGarmp 2 LI&@ITlen
IRy T Sy Iy S U slar (Lge Lesap 21L&
5. (Hga
Options :
61

7155058101. 133

66
7155058102, 133

7155058103.



16
33

33
7155058104, 67

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+2
lim(1+3x) * isequal to
x—0
Options :

7155058105. &

7155058106. &°

7155058107. e°

7155058108. e

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+2
im(1+3x) * (@)60T IDGILILY
x—0
Options :

7155058105. &

7155058106. &°



7155058107. e°

7155058108. e

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o ! : _ < _x=5 y-12 z-10 7.
Let Pﬁa,ﬂ,n]beﬂw image of the point Q(1,2,0) in the line Ty oo , then (PQ)* is

equal to
Options :

7155058109. 90
7155058110. 180
7155058111. 360

7155058112, 270

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X_S r_].z _IU . " Y — " . . 2 —_
: _J | =22 6Te0TD) GH ML 196D Q(1,2,0)-@)60T LIIDUID P(a, 1) craléd pa? -(E) 60T

IDGILIL

Options :

7155058109. 90



7155058110. 180

7155058111. 360

7155058112, 270

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058113, 8820

7155058114, 10584

7155058115. 1764

7155058116, 35315

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
e(H GULIQuiley 7 FleuliL DMHMILD 9 ClEUGTENEITLI LITH 5186 2_6TEIT60T. 8

LG 8166006 GeDDHSLL &L 626U6l6UM(H BlMSSHIeWILD PLOCOTMI LI Sl 86T
@) (5 G0 LT @576 5 6rfl60T eTenoreot|&:6m %

Options:

7155058113. 8820



7155058114, 10584
7155058115. 1764

7155058116. 3515

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 -~ L] M 1- b | 1
Let [t] denote the greatest integer function. If [[1+2*+¢* lar=a, then 365 - 254" +84° - o' 15 equal to
it J

Options :

7155058117. 19
7155058118, —19
7155058119. 18

7155058120. —21

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1] er6iTLIS LASLIAUITIL (D 68T B@LD. 142+ Tic=, 36a-256"+8a'~a' -@6IT
0

DI

Options:

7155058117. 19



7155058118. —19

7155058119. 18

7155058120. —21

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PL = 8 units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R. If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155058121, ~2

7155058122. 2

7155058123, 242

7155058124, 4

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PM L0MMILD QL 61607 G ITL (h\& 516007 (h &6 R-@)60 G614 56l & MemEHLD LG uLD
PL= 8§ 960G &6 LDDHMILD QM=2 260G &6 6T60TLIEIT &) 760or(h) @) 60 60T
CaTL(HEsIc0m(HG&6T. P, Q, R aulilFQaehsuld 6ul LGS0 @ PL LOMHMILD QM
QBTHCEHT(HHET eTenfl6) 6UL L SS6r 3y 7id



Options :

7155058121, ~2

7155058122. 2

7155058123, 22

7155058124, 4

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For some o € 17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /;: 9x + 7y ~ @ =0, then the centroid of APQR moves on the line /,, which is

20 ; T ; , .
— units from it. If the distance of Q from /5 is X thenkis

WI30 3,130

parallel to /1 at a distance

equal to ;
Options :

7155058125. 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



¢ ENTanusNE pEGaTad PQR -a1 HlyHaT Lietatlaa P(2, 5) pmid Qe -
1) @0, Reren Leretl i: 9x+Ty+a=0erenn Gamlie pamobung)

APQR a1t HHNGHCHTL(H) enioiib, /-5 @enawrina

9

—  _SA(FFET
WI130 e O

gIésle e_eran L erany Can() euflCL pamEng. 1 aladlmhs) Qerany

i Lk -
LaraflEsmar gL smﬂeﬁ]w, k=
Options:

7155058125. 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¥ . 2 4 o id :
Let A{x;, v;), i = 1,2,3 be points on the circle 12+ %= 10 such that A lies in the 1 quadrant and it
is the image of point A, with respect to y-axis. If the distance of point A; from each of the points

A, and A; 15 2, then twenty times the area of the A Ay Ay Az is
Options :

7155058129. 12

7155058130. 30

7155058131. 24

7155058132, 48



Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Af, ), 1 <i <3 aram epen Liataflaer v +y =10 ere Ul L e;)gﬂm bgarenar.
@LD@)JL’D Ay (P50 STD LGS uﬂlgﬂm Ay -85y SiEms GuTm&s
ﬁ]mur“mrr&ou ) .—J_OT@TE’]J A ;': WLUWCJJLLJA uﬂlusﬁlrrw)@ i:sr_c%.@lb
g 2 erafled, 20 LDI_I'E.I@ AAALA; gér i

Options :

7155058129. 12
7155058130. 30
7155058131. 24

7155058132. 48

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The remainder when 7% is divided by 15 1s

Options :

7155058133. 5
7155058134, 7

7155058135. 9



7155058136. 11

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
787.60 15- 9460 QUEHFHGLLCLITSE HehL &G LTS
Options:

7155058133. 5
7155058134, 7
7155058135. 9

7155058136. 11

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ox — Bz + y passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=1and 3x-2y+2z=0, then o + p + y is equal to :

Options :
7155058137. 5
7155058138. 13

7155058139. 19

7155058140. 27



Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1,-1,3) e Lyaaf] euflCGl Clgaaid S6miDd y=ax—pz+y eTamg) 2u+y+z=1
DHMILD 3x-2y+22=0 TAND FEHGEHES FLGSE1E 2 e, aafda+p+y =
Options :

7155058137. 5
7155058138. 13
7155058139. 19

7155058140. 27

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a—«f+7?+3k b t—?+7k c—“JH?_J‘L be three vectors. If ; is the vector such that
ST TSI R T ST R 1 —3'!—3“—3‘\1_ - fa A AN
tXxa= b+c |xa and 1+ b—c|=0  then ,-.(H.,i_,’f) is equal to :
J \ / )
Options :

7155058141, 3

7155058142, 4

7155058143. 3



7155058144, 6

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-+ A A A = AA - A A ' ] \ . : .
a=i+2j43k, b=i- 42k whmb c=2i+j-4% GTETLIEN P CleusL T&er. ; eTan

EE T R . R TR 3 = ) — A A S
S [ | ' . - i Pt V. ' . .
leugsL T rxa=/b+c|xa [pmmD t+ b—c|=0 graym @VFFRETE. F- —k
ole (Brefre OO ro|b=e =0 erem BQBHSTA, ro|itj-k
@er EyY
Options:

7155058141, 3
7155058142, 4
7155058143, 3

7155058144, 6

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation | +x + 1% +,.+ 51820 satisfies the

equation t'=1,is

Options :

7155058145, 0

1
7155058146. 59



8w

7155058147.

7155058148, 118

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| +x+ xz +,.,—x113

= 0 rem swdrum ger APeIEISETIe) FLoeumILIL| (panmulled
N : ) T AT T . ) ) SRART

GT(HESLILLL X1 epaid x' =1 eTamy FaTurLenl Hlenmay Clelidlng).

Sl er(h&sLL(eusDaTar HlEpsse, -

Options :

7155058145, 0

7155058146. 29
£

7155058147. 59

7155058148, 118

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean is 3 and variance is 2, then P(X < %] s

equal to :

Options :

7155058149.



25% 27

7155058150.  3°

163
7155058151, 3°

835
7155058152, 3°

Question Number : 18 Question Id

: 7155052586 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X G[GOT UQ_I Bin ) rsinm PR Uy Limauablar win edrs, é—ﬁfiﬁ_ EI'IITED I_ﬁj_h;llb @LL -@Eﬂf&)\éﬁﬁ

aurss &praflaer penm(lL 3 HMILD 2 erafled, Blepsse, LiTela &L
n
P(X< ) =
( 4]
Options :
29x 2°

7155058149, 37

25% 27

7155058150, 3°

163
7155058151, 3°

835
7155058152, 3°

Question Number : 19 Question Id

: 7155052587 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P ] '
] x5 -3x+2] .

The domain of the function f(x)=cos | ——|is:
Lot —1. ]
Options :
|51, i}
7155058153. - 2

1
7155058154. [5’ )

7155058155, -~ =42 = L. 2 -1

7155058156, (0. — 1= 42) U ({2 —1.)

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

7 b
| x—-3x+2) i

flx)=cos | ——— | GTEOTM) EWLI_('ﬂﬂ:TEﬁT FUTUSLD .
L& hlE=1 -
Options :
| ﬁ—ié}
7155058153, 2

i
7155058154, [5’ ),
"o r _ 11
7155058155, -~ (=42 = L. 2 — 1]

7155058156, (oo — 1= 2) L (|2 = 1.59)



Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?

Options :
7155058157. (P = AV p) = ¢

7155058158, ((P A q) = p) = ¢
7155058159, ((P A Q) A{~q)) = p

7155058160. ((P=aQ) V p)=p

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
SLpSFHETLUMHMIET 6Tg GILoWILDLOMEGLD ?
Options:

7155058157. (P = Q) V p) = q

7155058158, (P A Q) = p) = q

7155058159, ((P A Q) Al~q)) = p

7155058160. ((P=a) V p)=p



Mathematics Section B

Section Id : 715505160
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505160
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratio m :
n, where m and n are coprime, then m + n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¥+ x| = 30 MHAULD = |v-1|6T60TD CLEMETEUEMTEHET 2 [HEUTEHEGLD LFLIL y=x>+ |
GTEOT(D) GUEDETEUENT m : n 60T T B & H60 LS5 me, @mi@ m WML n
GTEOTLIGOT LIGSIT 6T600TG56IT, 6T60t1 60 m-+n (©)60r LoGILILY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



30 Gy oglfiuTen euamsss 12 oTamelTa(@aE Mg aupmsiu(palamar.

geu(olaum(m LoTamTeL(FEGLD G MBSLILELD €Y1 Gueorm oHMLD @lFer(h
DTG &4 alblalm(HelmEEL GTam () cummss: T 5T
auflsatle) GuLPMmIE (Pl LD

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let (1+x"—x ] Z a,x™. Thenay+a,+a,+..+ ay, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{ 7 4'12 8 1 v F iy, WA
(1+x°-1%) = X agx" eTeud. QIULILIT(DG) ag+ay+ay+..+ 2y @erwdin

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— S, is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

7+10+16+25+37 +.., erar euflensulan (pgea n 2 miliLsafler a.(ge S,
GTaflad, S3p—Syp =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f(x]=[x+xﬂ+‘x—x3 ‘+

1
v+
2

is not differentiable in the open interval (-10. 10), 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
t] eTaug) t o8 bans OlGL QUM G went. (-10, 10) eTam
\F\5 -

1
=
2

@lan. Clauamuiaiaren f()=]x+ [+h—x|+le+= eramp auanaudl apig wmLoe
o arer LjeTaflsafler orawrenflGans

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
: dx

If|————

(3x"+5)y10x" 47

| ‘ ; : .
NG log, | f(x) +C where C is an arbitrary constant, then 7 (0) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ey | ; ) . . .
| = Wl caaicn fo)-@eir By @i C
(3.1"- +.'.‘J'-s"|| ] ”.\'H +? \':\Rn

TS e & W (HIDELIMS HlenL & @ LD wmpled.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let the equation of the hyperbola with foci (1, 5). (1, —1) and eccentricity \3 be

x“—2y*+ax+by+c=0. Then|a+b+c|is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1,5),(1,-1) %aaltu*un”m GeWmIGETTS 2 el 3 enlols bigTanasssey

2+*Lr+b1+c— OUELD. aaflla+

CJ' S

QarerL séluraseerugslar swarum() -2y
b+el =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let 0y, o be the values of o such that the distance between the point (2, 4, 3) and the plane

3x+y+az+10=01s 35 units. Then the area of the triangle with vertices (ay, ay, 0),

(e,

unit-.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(2,4,3) erann Lamenedlmhg) 3x+y+az+10=0 arany sardsnaTer gIrh %

=
Y

D{Q(E ST GTENN) HEMLOW|LD G o DSILILISET ay LOHMILD 0y G LD. (ay, oy, 0),

.o (164 . ) . ;
(a, ay, 0) LDMMILD e 5,0 %a%lwsumm (PENETEATTE 2_anL (LI

/
p&GaTamsslen LijLiLee (58)T M@ satla).
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let O be the origin and let the vectors ﬁ':_gf.g?ﬁf,{ﬁg':_a'?.w?_sf and pc= ; represent

three sides of a parallelopiped, where 5 is a unit vector in the xy- plane. If the maximum volume

of the parallelopiped is 2/, then @ is equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

O GTeLg) <4 EIILi6Tal. OR=-37+7; +5k, OB=-5i+7j-3k OC=4 eran ClaudLf
QU QAT ETssmosPer PG LISEHSETTELD. QIRIE o GTETLIF 1y
FTHEQIETET SeE CeusLi. @lenenrar Slamnosslar BUGILm sam 2yeray
2 aafled, o=

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X+y-2 dy _X+y+2

If the solution curve of the differential equation ,X+>2 passes through the

2+y-1 ax x+y+l

(| 3
a +Hda+2

points (JE.J'E | and (2.a), then 2a~ log, is equal to

\ f |
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Xx+y=2 dy X+y+2

= .x+1.-‘}2 I . \ I I I
iyl di il ETEOT(D QUEN B &GS (LD SFLOETLITL 60T B 176

a3+4a+21 Q6T

emmmwmmﬁﬁJﬂmeMMmamgmﬁgﬁmm@2ﬂ4%{

/

&L :

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Aptitude Test
Section Id : 715505161
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505161
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :

7155058171, Lype of cement

7155058172, Lype of floor finish

7155058173, Lype of paint

7155058174, 1ype of Brick

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SITIWLEM6UE S 56ITIL0600T &6V 6T60TLISI?

Options :

7155058171, &1 GILOGOOT L. 60T 6L60) &

2155058172, HEMOTUWI60T GLOEV LL&FID 6U6m &



7155058173, 6UT600T& H60T 6160)5

7155058174, GIFMIFH 6D 66N &

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below

Options:
7155058175. Both Statement I and Statement IT are correct
7155058176. Both Statement I and Statement IT are incorrect

7155058177. Statement I is correct but statement II is incorrect

7155058178. Statement I is incorrect but statement I is correct

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B0 QamHesLIUL(HeTaTanel @)renor(h o.M mis6T:

Fammi: FOTILE] TaTUS &EHET @)BSWTalar g6
QIENTWMIGELULLL B&LD.

Famml 11 : FGTIGIT H&HTSMS GUILAIMINGES S V6l FTTHS)
BLLL5EMaEHT 60l GamyeIw.

G &L Fammserfley Gmbal Frflwmer allemLamws CHIHolSH &0
Options :
7155058175, 8D MI T IDHMILD & DM IT G\ Tevor(h) D &l

7155058176, S DM T DM MILD o D01 IT @) TevoT(HILD &eum)
7155058177, T D I &FIf1 24,606V o (DM 1T H6u M)

7155058178, oD I H6UMI 24,607 T6D Fn D0 IT &Fifl

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Glass has low thermal conductivity

Statement IT : Glass can absorb, refract and transmit light.

In the light of above statements, choose the most appropriate answer form the options given below
Options :

7155058179. Both Statement I and Statement IT are correct

7155058180. Both Statement I and Statement II are incorrect

7155058181. Statement I is correct but statement II i1s incorrect



7155058182. Statement I is incorrect but statement I is correct

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@)\F FoDMGET ECLD Q& M(H &&LILUL (H6TeTer

Famml 1 GG GODES QeuliL HLESSHn@mar QuhHil &R S,
gammi 11 : Haorerormqime) gerfleni 2 1 &eur (I, 6ile)ae LomHmiD
&5 GlF6an.

GLM&ETL Saaserle) @ mhs Frlwmer ellenLamus CEIH6 s [H &5H6aLW0
Options:

7155058179, S DM T DM MILD Fo DO IT @) T600T(H) LD & (]

7155058180, T MM T DM MILD Fn DM 1T @) T600r (KD &6u M
7155058181, D0 I &1f] 24,6076V Fon (D0 1T 610

7155058182, DM T H6UMI BY,60TT6V Fo (D IT &FiJ]

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A PPMUY [. [KAUSHAL VISKAS YOJNA
B. PMAY 1II. JAN DHAN YOJANA
C. PMEVY 1 JUTTWALA YOJANA
D. PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155058183, A-L B-1IL C-II, D-IV

7155058184, A-III, B-IV, C-1, D-II

7155058185. A-IV, B-II, C-III, D-I

7155058186, A-IV. B-III, C-I, D-II

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QETEE 10 AzmEE I 2 Lar QUTHSSI%

A5TEH I Qsngs II
A PMUY L |Q&emagme sllasme Guimgerm
B. PMAY IL | seirg medr Guimazerm
C. PMKVY L [2_soeumeh Guimagenr
D. PMIDY IV laygumeiv Guumegeorm

&6 QamHEHa UL [HeTer ailgpLiumisartle @ mbal FFlwmer allaLenws
G656 & SeLD:

Options :

7155058183, A-L. B-III. C-II, D-IV

7155058184, A-1IL, B-IV, C-I, D-II



7155058185, A-IV, B-II, C-III, D-I

7155058186. A-IV. B-III, C-I, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LIST IT
A |ICP Kukreja [. [IIM Ahmedabad
B. [Louiz I Kahn II. fJawahar Lal Nehr University
C. |B.V Doshi IT1. IIT Kanpur
D. JAchyut Kanvinde| IV, [[IM Bengalum

Choose the correct answer from the options given below:
Options :
7155058187, A-IV. B-II, C-1. D-IIT

7155058188, A-III, B-1. C-II, D-IV

7155058189, A-1I, B-1, C-IV, D-III

7155058190, A-L. B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QETESH 18 0s5TES I 2 Lar QUTHS3I%

Q5nES I QznES I
A CP&GIraT L M aisngTung
B. [surudlah) I smedr 1L |meuamieume GH(s L) &amel s e 010
C. BVGgmadl L [T &meirLyy
D. |9iFws smellerGL| IV [IIM Qumisenm

&6 GamhsasUuL(herar allpLLRs6TD G mha! &iflwmer ellanLemws
C& b6 5 H SHaLD:

Options :

7155058187. A-IV, B-II, C-1. D-III

7155058188, A-III, B-1, C-II, D-IV

7155058189, A-II, B-1, C-IV, D-III

7155058190, A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which one of these is not a complimentary colour?

Options :
7155058191, Blue-Orange

7155058192. Red-Green

7155058193. Blue-Green

7155058194, Violet-Yellow



Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@) emeuGerflel 6Tem6l 660TM) EeVEUEF LTSS HHS 62(H 6UT6U0TLD @)606M6?
Options :

7155058191, [D6VLD - DT EH&

7155058192, FIGULIL| — LIF e &F

2155058193, IDEVLD — LIF 60 &

7155058194, 281 GHIT — LOGH & 6IT

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options :
7155058195, Himachal Pradesh

7155058196. Uttarakhand

7155058197. Uttar Pradesh

7155058198, Madhya Pradesh

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@ HSIWTele 6THS LDMHIVEEHI6) TITLT6E (&6M& 3 60LDIESI6T6mS!?
Options :

7155058195, UDILDMEFEFE) LITGH&F 1D

7155058196. =SS TS TE00T L

7155058197. 2-55T LIJEH & 1D

7155058198, LDSSI W LITEH&ID

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option among the following:

Petronas Tower 1s situated in:

Options :

7155058199. Paris

7155058200. Dubal

7155058201 . Kuala Lumpur

7155058202. New York

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Lereu(mid eurmiiliLsefledmng erflumer uSlemes Gl H6 & (H & e LD:

GIULTTeTITeN) G&ITLTLD 6T60TLIS) 6T R, & 6ML0HSI6T6TE).
Options :
7155058199, LITIF6M

7155058200, SILIMMLL

7155058201, ©&HMEVTEVLDLLT

7155058202, B UM &

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The Konark Temple is located in which state?

Options :
7155058203, Madhya Pradesh

7155058204. Odisha

7155058205. Karnataka

7155058206, Rajasthan

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Camermis Comalley eTedTUS] 6THS LDMHIVESI6) 216010165 S 6T6TS)?
Options:

7155058203, LSS W LITEHF1D

7155058204, GRI1&T

7155058205, I BITL_SHIT

7155058206, U TE26MV & TEOT

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options:

7155058207. Louis I Kahn

7155058208. Mohse Safdi

7155058209. Fariborz Sahba

7155058210. RiCllEil‘d :"L“IE'}’EI'

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STL6eNT Gomellemney SLU1Q W S L L &60)60EH60T WIMTT?



Options :
7155058207, STLWIl6M I &T60T

7155058208, GLOGH FaLig

7155058209, GLIT LTIV & MEUDLIT

7155058210, I1&F T (R GLOWT

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options :

7155058211. A dead Bearer
7155058212. A Dumb Waiter
7155058213, A Jockey Boy

7155058214, A push upper

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Flw LEmemel L (HIC ST&EGWD 6(F FIMIWL LIEH ST 5 6T60TLIS):

Options :

7155058211, (6 2 WITDHM & LOLILIEUET



7155058212, (6 GUISF (I WITS STHS(HLILISUT

7155058213, (B LGNS WS GHen g sFeurmyl Q& WD emLwieor

7155058214, 62(H GLOGEV S6ITEN

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are often referred as 'twin cities' of Odisha?

Options:

7155058215. Bhubaneshwar-Puri
7155058216. Puri-Cuttack
7155058217. Bhubaneshwar-Cuttack

7155058218. Bhubaneshwar-Rourkela

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@)emeuserle) 6ThE 6eTmI 2419.881q 6l Emelledr @)L 601 [H5 TG 6Tema)
GUILLLUH S TmE?

Options :

7155058215, LIeUGeoreiq 6u — L ifl



7155058216, b1 — HLLMH

7155058217, LI6UGEOTEI 61T — SL_LT&

7155058218, LI6UGE0TEI 61T — G TG &HEUT

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which is the correct chronology of Human Civilizations in terms of their existence?

Options:
7155058219, Mesopotamia-Harappa-Egyptian-Chinese

7155058220, Mesopotamia-Egyptian-Harappa-Chinese
7155058221, Mesopotamia-Chinese-Harappa-Egyptian

7155058222, Egvptian-Mesopotamia-Harappa-Sumerian

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LDE0TlE BMETESMS M6USS 615 FFILTE STECETLTS OH&ES MmS"?

Options:

7155058219, @G FTLGL mMWOIWIT-amFUUm-eT & UGS r-F 6oty

7155058220, @ DG FMLIGL mOIWIT-6T S LIS WT-am i LLIm-§F 6Ty



7155058221, @GOG EFTUGL MIOlWIM-§ 60T [7-aUD 7 LIUM-6T&IUG Wy

7155058222 STHILGSIWT- QUG FTUGL mohwum-emrum-g&Eu g

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options :

7155058223, Shah Jahan
7155058224, Jahangir

7155058225. Akbar

7155058226, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GILeVeOlWIleD 2 6T @GsILWleTTT WIMImey S L UL L 517
Options :

7155058223, 624 TEQ & T60T

7155058224, 83 MMIE T

7155058225, <HHUIT



7155058226, &SI 2_H60T DUl

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) Light throughout the
year’

Options :

7155058227. North
7155058228. South
7155058229. East

7155058230. West

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f6S QFME 2mTCHer Hlanawile) UL (WSS g6l Flgme @6
brager eerflem QumeiTaar?

Options:

7155058227, GUL-&&

7155058228, @S MG

7155058229, BIDLH S



7155058230. CLOM &

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options :

7155058231, Raj Rewal

7155058232, Charles Correa

7155058233, Achyut Kanvinde

7155058234, Hafeez Contractor

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Qe ifley @ 6mer LsWDEILIM M S6UaMTEITE) &MU 6U600T 8 CUETTHE6M S
LI &L L L& 8606U(EHeT WIT?

Options :

7155058231, T3 [fleumev

7155058232, FITIEVEN G miflwim

7155058233, < &F Wh& SHTeoTell600T GL

7155058234, UDLTEIV @LILIBSHTTT



Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewari is a construction style popular predominantly in

Options :

7155058235, Coastal Areas

7155058236. Plains

7155058237, Mountainous Region

7155058238. Desert Areas

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gresl-gleur] etz e LITH&SS QLM (L& 6men LW T &L LL LITHIE

Options :
7155058235, HL6V LI& B SH6T

7155058236, SHE0 JLOL_L_MRIS6T

7155058237, LDEMEY F1& T LIGS &6

7155058238, LIMEMEVEUEIT LI LI& & & 6T



Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options :
7155058239, Marble
7155058240, Granite

7155058241, Shale

7155058242, Sand Stone

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Dene FsTL LGS S6T6) 615 616 s &6V G0N EmemTHE LWeTUH S mS?
Options :

7155058239, LOMILII6T

7155058240. @UWE?FJEDT L

7155058241, LDM&&6L LIMEN D

7155058242. LD6BOTEY &6V

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Chandigarh is an example of which type of city planning.

Options :

7155058243, Radio Centric
7155058244, Grid-iron
7155058245, Linear

7155058246, Organic

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FE00TIQ &[T 6T60TLIS 2 H&T SILL O W& @ 2_&TIeorh 24, LD.
Options :

7155058243, G GWIT eMWOWILILIGSH S 6V

7155058244, SDLINFF L LLD- @)(HLDL

7155058245, GBIV

7155058246, () LWL [D60) & LI TEOTS|

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa, which rooms would have the best view of the sea?

Options:
7155058247, Those facing North

7155058248, 1hose facing South
7155058249 1hose facing East

7155058250, 1hose facing West

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cameaumeller &L MH&MTEWTTLD HHIGHeT &LLLLD STLLQLL6TeTTa6T erenfle,
THG MMEET HL6) LITT06ISHE ANHESETE @)[H6E0?

Options:

7155058247, CUL-&(@& LITTSHS LI 2_6ITEIT 2460 D

7155058248, @& M@ LIMTSHLILY 2 6T6IT 2460 (D
7155058249, PILE G CHMTHGILILIG 2 6TeT 260D

7155058250, CLOM & CBHITSHSHIWILILG 2 66T 260D

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



"NIFT" National Institute of Fashion Technology. Delhi is designed by
Options :

7155058251. B.V Doshi

7155058252, C.P Kukreja

7155058253, Raj Rewal

7155058254, Bimal Patel

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

“NIFT” G& & JL0G SH6m6a) QgmplevmL L mlmieuertd, QLsuedl plmisuerid
@)6UTTa) EUILEUEMIDSEHLILIL L &):

Options :

7155058251, B.V G maql

7155058252, C.P & &G Team
7155058253, &2 [F6UTEY

7155058254, LIILOMEL LIL_GL 6V

Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

[. |Empire state Building

II. [Hagia Sophia

8 !}_LEH?H'}'_l A II1. |Sydnev Opera House
LFRREREiLl

IV |Coloszzeum

L

| im——

Choose the correct answer from the options given below:
Options:

7155058255, A-IL, B-1, C-IV, D-III

7155058256, A-L, B-IIL, C-IV, D-II

7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV. B-III, C-II., D-I



Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QETES 18 05TEGS I 2 Lar QUTHSS%

QznEs I

- ferbuwy 6VGLL &L gL

- lamr&wr Camlwm

[EILafl @GQUTT ameyEy

LR &melE WD

ECW QFTREE 11 (ReTer llimi 1 imE&afla) @mma il imear alleant aniig
Options :
7155058255, A-1L, B-I, C-IV, D-III

7155058256. A-I, B-III, C-IV, D-II



7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV, B-III, C-II. D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIE-T I LISTII
o r_ﬁ
Al v ‘ﬁ [ |Tesla
B. II. |Ferrari
C. I1I. [Porsche
D. £&e || IV, |Toyota

Choose the correct answer from the options given below:
Options :
7155058259, A-IV. B-1, C-II. D-III

7155058260. A-IL, B-III. C-I, D-IV

7155058261, A-1II, B-II. C-I, D-IV



7155058262, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
QETES 1D Q&GS I 2 Lar QUTHESSI%

@w@I QgTEH I

A t ﬂ I [Qudveur

.—-'='--.

B. 1L l@ugm]

&5 L |Burjg

ST

'lt‘“!\ ml-
! .
D. JJ} IV jQumum Gum
.ﬁ‘“
,r‘“

&0 Qe ssUuL_(herer ellmLumsetle) @ wmbal Eiflwmer allanL s
GEHIHOISH HEHLD:

Options :

7155058259, A-IV, B-1, C-IL. D-III

7155058260, A-1I, B-III. C-1, D-IV

7155058261. A-III, B-1I. C-I1, D-IV



7155058262. A-IV, B-III, C-II, D-I

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155058263. Both Statement I and Statement II are correct

7155058264. Both Statement I and Statement IT are incorrect

7155058265. Statement I is correct but statement IT is incorrect

7155058266. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



@)\yeoor(h) S MMIGET HELD C&M(H &&LULL (H6TaTe:

gammiI: FleuliLy, Hevid Hmih LoEhe 6T ENLIME (T UTERT &8 & TS ST
(LDSEOTEMILD 6L [T 60T MRl &6

Gammi 11 : 615 CUIT6UT & 68078 S0 676007 MG 6 62616 6UTETMILD 6 60T 1)L 60T
a0 TG Blenawiley G)(FLILIS ([)606UE 6UT600ThIS 6T ereir)
wLLBEDS.

Gh &L FohHmserle @mbal Fiflwmer elleLenusg CarHesH&EseL0n

Options :
7155058263, T DM I LOMDMID Fn DM 1T @ Tevor(HiD &l

7155058264, T DM T IOMMULD Fon HO) IT @) 7600T(H) LD & 610
7155058265, oMM I &FIf] 24,60TMEV Fou (DM 1T H6u M)

7155058266, T DM T H6UMI B1,60TTEV Fon (D 1T &I

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

M8 |

Options :

7155058267.



7155058268.

7155058269.

7155058270.

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



B0 QETH&&EUUL([H6Tar CH6mellaaT LIL M6 LIGI6) LIL &6
QarLihaeTers. UGl uLmserlellmEa eearam CoraQF s, 235 268
eurflema wileh 260605 HeOLILN6 QFTLTeuGETS Caetell LIL ST arme)
Q600G & LILIL (D 6TemE).

2/\O(8 |
Options : ()
<
7155058267. \>
¢
7155058268. />
<
7155058269. Q
@

7155058270.




Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many triangles are there in given figure:-

AVAVAN
AVAVAVA

Options :

7155058271. 26

[
N

7155058272.

7155058273. 27

7155058274. 24

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QETHESUUL(HETET ULSE6) 675560607 (L5 G5 M6u0T RIS 6T 2_6T6S;?

JAVAVAVAN

Options :




7155058271. 26

]
N

7155058272.

7155058273. 27

7155058274. 24

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the odd one out:-

1.9, 25, 3243 59
Options:

7155058275. 59

7155058276. 32

]
N

7155058277.

7155058278. 9

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
OhESS CSTLIleL QUTIHHSTS 6260T60) DS FH600TL 15,

Ty 225, 32,443,359

L



Options :

LA
D

7155058275.

7155058276. 32

[
L

7155058277.

7155058278. 9

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058279. 45.6 meter

7155058280. 50 meter

7155058281. 50.4 meter

7155058282. 51.6 meter

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e GUUWIELLGS SLILLESSHI6) 15 HETRISET 2 6TaTa). &6&6ns S5 6 2 Wi
42 0L (Bemd wmmid e LUeens S ey CErss)). LG 9imearss)
SOTMAIGEHLD (PEmDEW 3.3 WLLF 2 Wb (A(HLOMS ST CFT5HS)).

S LEH 6T 0mss 2 wild WL LKl (SmI5S6TD (&6 CLmLeL LM
ouenI)?

Options:

7155058279, 45.6 LALL[J
7155058280, 30 LOL_L_J
7155058281, 30.4 LOL_L_[J

7155058282, 31.6 LOLL[J

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identity the mirror image of the given word:-

|
|
SUCCESS |
|
|

Options :
7155058283. 2 24D Ué

7155058284, U DH22
7155058285. SUCCESS

7155058286. SSECCUS



Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ECL Q&MH&sLILL(H6T6T UTTHm& W6 senoreoriy LIDU&SMSS &HTers.

|
|
SUCCESS |
|
|

Options :

7155058283. & € 4D U2
7155058284, & U DD HeEZ
7155058285. SUCCESS

7155058286. SSECCUS

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A" to point 'B' on the Map. Then how
much the car has travelled in original:-

Options:
7155058287. 0.7 km
7155058288. 7000 mm

7155058289. 7 km

7155058290. 70 meter



Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

60(IF QUENTLIL & G160 2)6me)@as ey eTeorLig) 1:1000. ea(h & Liamer] A -6lledl w55
B-5@ 7 cm euenTULSHI6 s LwenllaEms) erefle), GLogULD ST eTelel6mey
LD Q47U BleneledmBa &L HSI6Tens.

Options :

7155058287. 0.7 km

7155058288. 7000 mm

7155058289. 7 km

7155058290. 70 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :
7155058291. 8 meter * 4 meter
7155058292, &80 meter * 40 meter

7155058293. 8 centumneter * 4 centumeter

7155058294, 4 meter = 2 meter



Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

62(1h BleVGTeir 2y6mey 80 AL LT x 40 WL L1J-5 62(m 6L 10607 u6m ey GUILILIT
1031 gyemeli(B) 1: 100 euemywLILB&E DS, CLOSILD 6TTHS 216m6Y 6166y
Cuuuflelphe plsENHE?

Options :

7155058291, 8 UL LT x4 1L

7155058292, 80 LOL LT x 40 WSL_L1T
7155058293, & QEeTIq O LT x4 Qoeriq il L

7155058294, 4 AL LD x 2 AL L [J

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing number in given series.

16, 33,63, 131, 261.4.....)
Options :

7155058295. 523
7155058296. 521

7155058297. 524

7155058298. 520



Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CEm@E&sUULmeTer eurlanauile) el (HILL L 6T60oren) 600TS: & M600TS.
163365, 13k 261 4.}

Options :

7155058295. 323

7155058296. 521

7155058297. 524

7155058298. 520

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options :
7155058299. KVCMA
7155058300. KWCNB

7155058301. KUCLA

7155058302. KVCNA



Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GO G Qmdlulle) “ROMAN” ereTLIS TQOCP™: 248 6TDSLILIL () 2_6Tems).
eTenfle “ITALY” 6TedTLI S| ?

Options:

7155058299. KVCMA

7155058300. KWCNB

7155058301. KUCLA

7155058302. KVCNA

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

)X
B\ b |

Options :

7155058303. D

7155058304. C

7155058305. B

7155058306. A

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



BT6eTE 21 (0556055 meauH6rle) 678 GleuMmlL GILIL Q& eUHLD eTeTLImS
HGSIWen LLgEl60mHS) eaTenns C511H0 S0 &5eLD.

- | X | X | O

pas
4= | €

D
B4 |

Options :

7155058303. D

7155058304. C

7155058305. B

7155058306. A

Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058307.

7155058308.

71550583009.

7155058310.




Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wWLiulnmer euenyULLD QuTRerler eF UTFenelenils &l (HE ms.

LUTFSGLD GOIW6 Blenaserfladlmna Qamh&sLIUL (H6Tem L6

UL migsertledlpBEg el GLUMHSSL0meT 2 LIF606l &eoorL1ls.

]

Options:

7155058307.

7155058308.

71550583009.




7155058310.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155058311.

7155058312.




7155058313.

7155058314.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Coamalluiled HTLLLILL (D6TeT 6UemTLILSSH60r GLO6) LITTen6l MM eIy
Qumerler euenr SILLID BC Q&T(H&SUIUL(HETET LS SH6T
LILSS\60l[mHS Seummeor (WLiLflnmer Lmjeneuen s &eoorL il s.

Options :

7155058311.



%

7155058312.

7155058313.

A

7155058314.

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
QILIM(HEI6D 6T& & 6me0T LITLIL|S6T @)(hHa&&EIma?

Options :



7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

7155058319.

7155058320.



7155058321. "'-—
7155058322. IT @

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CaemellLILL &56) 2 6TaT UM TLIL&60G @) T60or(h) LS &6mmas: GleuL 10606y,

LIB\6) LILmigerle) 2 6o eTF& LILLD Caemalluiled 2 6mem LIL &SI

CLMHOUMBHSIS6) @)6V6VTLN6) @)[H&S DS 6T6TLI60E S &IT60TS:?

Options :

N

7155058319.

7155058320.



7155058321. “‘*-
7155058322, IJ—_\_KI S

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155058323.



7155058324. ]

7155058325. -

7155058326.

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
6 Qumerler WLl mer &efls euamyULmGmeT &TLHSMSI. LG
LILmi&6erflell (BB s 21560r QUT[HS ST 21T UMTeneleniL &eoorL 1l &.

Options :

7155058323.

7155058324

7155058325.



7155058326. .

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M () ()

A B G D
Options :

7155058327. D

7155058328. A

7155058329. B

7155058330. C

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gumerler srflwmer WETCHTHD 2 HeIGMS S L &SI &S &)
QEwWlLLL @)L mES UTTéEneUTs e mls.

M () ()

A B C D
Options :

7155058327. D
7155058328. A
7155058329. B

7155058330. C

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paper 1s folded in a given pattern and 1t is cut at the end. Identify which pattern is formed when
the paper is unfold.

A/ AL




Options :

/ ]
A
-',.I‘\/
[ ] & -
‘///'l' 3 .
7155058331, ks __sls e

. T } A
g
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™ of® L
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7155058332, ks _sls o
L] L
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L]
D
s
LV .
7155058333 .* | *
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[ ] "
e
e/
. 8 .
- ;}.ﬁ*\

rd
7155058334. s els @

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e CUUILT Q&MHSELUIUL (H6T6T U eus5EH6) DL &&LUM SIS HMILD
SIH60T (LREMET Gleul_ LUK, 676HS euigeuld GUUILIT LDL&ETLN6

UL EUEMLDELIL L5 6T60T & 6007 LM LLIGYLD.

i
/
A

VAN

Options:

7155058331.
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7155058334, lzxs___ele  «

Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

A\

I

/L) [/
AA

Options :



7155058335.

7155058336.

7155058337.

7155058338.

Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gaemalluiley 2 amem LILLD ea(m GUM 66T (LU0 mesor LIMTeneUen iU &

sTLOHE DS, GUIWLE Saswlcdmba srflwmar CHTHmsEams s
856007 L_ 1)) 5.

!

L7/ [/
A

Options :

7155058335.

7155058336.

7155058337.

7155058338.




Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

!

/

Options :

7155058339.

7155058340.

7155058341.



7155058342.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Caemailuiley 2 amem LILLD e/ QUM 66T (LU LD mesor LIMTemeUenil &

sTLOH&EDs. GO0 Saneulledmbs srlwmar CaTHmEam s s
& e00r L)1 &.

>
Options :

7155058339.



7155058340.

7155058341.

7155058342.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058343.

7155058344.

7155058345.



7155058346.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ECwwemer eumiLiLgserfledlmna waliurlnmeser Qummerler &iflwimer eueny
FILLEMS 2 WSS 0HES UTF&GLELNS 2 6Tarens 657 H0 S [H 666D,

I\

7155058343.

Options :



7155058344.

7155058345.

7155058346.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

" \\s\: & I")

[ e [ .

A B C D
Options:

7155058347.
7155058348.
N
7155058349.
%
7155058350.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(LDG6V LIS S|60T @) TenTL el LIL LD 860078 @ LIL&SI60T Fleu) (LD&6)
LILGSILar @y mGlflwumer QasmLyyenLsg). UGl LILm&era 6(F LLLD
2165 WmGIflwmer @) gevorLmeus LGS (&6 UL M&EmL6T QgTLTamL
QuOMlmESE DS, QarH&EsUUL BT UGl LLm&elelmns Filwmearms
gL fls.

(1) \\x\: &
HENIHE,
A B C D
Options :
N
7155058347.
7155058348.
N
7155058349.
%
7155058350.

Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

x|
Options :
7155058351.
7155058352.
7155058353.

7155058354.



Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X 89U QUG S, QUOWIWLITET SeoomeoorTly LIDLGSEMS 216m60Ts 5l LG

LIL Rl &erle0l(p b8 &evorL il

X

Options :

7155058351.

7155058352.



N

7155058353.

7155058354, g&

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

ik




7155058355.

7155058356.

7155058357.

>/

7155058358.

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Q&M(H SH&ELILIL (66T 246060Td S UM LILILS6r6) @mbhg &ilwmer L6
RATDNE CHIHESH S aurlamaamu Ljs5s Ggweyb.

b ISolk

7

Options :

/ X
7155058355, & d
7155058356.
7155058357.
7155058358.

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?

[ [ [ I
\.‘l’./ \.‘I’. / \.‘I': / \"Fr'/
A 5 2l . :
b M7k ML 4llg NS gl M/ 4
A/|\Lh/|\‘!l"/|\11/i\r
FARAIF RN IR IR
AN A\ AN A\
A B C D
Options :

7155058359. B

7155058360. A

7155058361. D

7155058362, C

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GG LU 6ISS6) ST DL &&LL(H6Tens) MHmiD Gleul ()
el LIULLenGLI GUITETM) @) mE&EImE). 25 VEUFTE @) HEE L0
GUITS) 6TEU6UTM 6ULY6UMI&6T Gl& WLIWETLD?

Options :

7155058359. B

7155058360. A

7155058361. D

7155058362, C

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0w @MlUUILLUL (Hemer ULSS0mHa Seumalll L auflens LILGmEH5
G TEO0T S,

ARIAWAIA
0 @ @

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

A VA Demand
530+ D Supply
500+ 7

ﬁ 400 =+ / /
= 350+ /
L300+ 7
i sl al
200+ /
1530+ / /
100+ /
50 =+
%m 7 >
0 VEGETABLE COSMETICS SANITIZER  STATIONARY
/ FRUITS ITEMS

TYPES OF ITEMS

The diagram shows the supply and demand of different vsers for different items, Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058367, B and D only

7155058368, A and B only

7155058369, A and C only

7155058370, B. C and D only

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand

530 4 [] Supply
500 + 77
tlnl 400 + /
5 350+ ///
& 300+ /// 7
8 230+ /// ;;f fﬁf //
Z o+ /
150 4 /// /// ///
100+ ///
50 4
/i Al
O T VEGETABLE COSMETICS SANITIZER  STATIONARY

/ FRUITS ITEMS
TYPES OF ITEMS

LILLD Q&m(h&&6) MmN G566l s mer LieEeu M GILIMH6TE Eh& & Ter
GleueuGeum Liweormerla6r. &Lbel(meucTeu M6y eremey &iflwimena)?

A sl Caemauiled 50% WL HIG LisS QFwEms.

B. 9IL0@ FMS6TLD qT6V6)T QEmbLILaTes6rlain G DESULFINTGLD.

C. 266 SemersSlauLD @) reoor(h) eileuTmIs6T ST €560 6u&meTiLD
Q606D GeUMILIL L Q&T(HSSHMEVD 6l&Teoor(h6mems,.

D. 9 GT6T ZenergEIauLn @) geoor(h) elleurmiGaT FLOMme Q& m(h&56) HmLD
@)\ reor(B) QllEUTEIGET FLOLOMET G5 6m6UemWILLD QLM MI6TeTs.

&6 QsmhasluLHerer eumiliysetlelmnral sflwumer uglamey
GCHTH6 & (hSH&H6LD.

Options :

7155058367, B LOMMILD D 0L (KD

7155058368, A LOMMILD B DL (HILD

7155058369, A LOMMILD C DL (KD

7155058370, B. C LDMMILD D 0L (HILD

Drawing
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Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 50

715505162
4

Offline
Mandatory
2

2

100

Yes

0

1
715505162
No

null



Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice,

Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50



QaTH&sUULL THIF] ULGMS 065 2 (HeUGMS LTS5, HILDIS S,
S(HLIL DMHMUD GEUETEN 6T (LM ML LIL6OTLI(H & S6)LD.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

CUITLLMT en&&&lerleor 29 LLemL 2D QU CUEISENETL LLGTLIHES 2 mig6T

AEUUSHHEHMHL FeuTTaVLILDTE 2D &H6)E6UIL 2_(H6IME &6, GLgILD

2 mgeT ellELILEHCHDL ¢ CEHELN OGN Bl MEISEMETL LILIGTLIHS S6YLD.



